
file=open("27-A.txt",encoding="utf8")
i = 0
sum = 0
min_ost_1 = -1
min_ost_2 = -1
for st in file:
    st=st[:-1]
    if i == 0:
        N = int(st)
    else:
        ms = list(map(int, st.split()))
        if ms[0] > ms[1]:
            sum += ms[0]
        else:
            sum += ms[1]
        if abs(ms[0]-ms[1]) % 3 == 1:
            if min_ost_1 == -1:
                min_ost_1 = abs(ms[0]-ms[1])
            elif abs(ms[0]-ms[1]) < min_ost_1:
                min_ost_1 = abs(ms[0]-ms[1])
        if abs(ms[0]-ms[1]) % 3 == 2:
            if min_ost_2 == -1:
                min_ost_2 = abs(ms[0]-ms[1])
            elif abs(ms[0]-ms[1]) < min_ost_2:
                min_ost_2 = abs(ms[0]-ms[1])
        print(ms)
    i += 1
if sum % 3 != 0:
    print(sum)
else:
    if min_ost_1 < min_ost_2:
        sum -= min_ost_1
    else:
        sum -= min_ost_2
    print(sum)

min_ost_1
min_ost_2

127127 399762080


